| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

1] : R SRS T SRR RS NS NN SO
Qo S A A
KT O e A A S S S S S
© Foo : : : : : : : :
(0 e S R St ] NS S S S
s o o e e e
L e
I I
002

P00 O O O T O

Ratio

MR TN SIS T 3 A B R S

A (1

_JBE20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__CKF__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFitl__RECO

02 —«— DQM_V0001_R000000001__Global__mkFit2_ RECO
N . N T N T
N ; ;

T ET| OSSR NSNS N S T——
N i i i : i

A s e
[&] - . . . . N

.14 o Frrereree frorereeeee A
o : : : : :

e e
IS TR 16 N S SR N
0 08
R e —,—

0,04t e

0.02F
0

Ratio
|_\
(63}

_30 =20 0 10 20 30
TP dz (cm)



	Contents
	Page 1


